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5 3.3.3 AHP
’ ( ) (1) o
2, (
3.3.2 4),
3 o
2, 5~ 8.
2 ( )
Ex 19. 096 30. 900 50. 000 69. 100 80. 904
En 0. 594 0.367 0.227 0.367 0.594
He 0. 026 0.016 0.010 0.016 0. 026
3
€, ~Cs Cyyn €y ~Cron Cyg ~Cy 0 60 60 70 70 80 80 90 90 100)
Cy % 0 10 20 40 40 50 50 70 70 100)
c, % 0 20 20 50 50 70 70 90 90 100)
Cy % 0 10 10 30 30 40 40 50 50 60)
c, % 0 30 30 40 40 49 45 59 55 60)
Cy % 0 40 40 50 50 60) 60 70 70 80)
Ch kg /m? 20 24 18 20 16 19 14 16 10 14)
Cy, v m 300 500 250 300 200 250 150 200 0 150)
c, dB 70 100 65 70 60 69 55 60 0 55)
4
C,= (1 1 0)
C,= (1/3 0.33/9 0.01/9)
C,= (3 0.33 0.01)
C,= (1/5 0.33/25 0.01/25)
Ci= (5 0.33 0.01)
Co= (1/7 0.33/49 0.01/49)
C,= (7 0.33 0.01)
Cy= (1/9 0.33/81 0.01/81)
C,= (9 0.33 0.01)
5 PA
P A, A, A, A,
A, (1 1 0) (1/7 0.33/49 0.01/49) | (1/3 0.33/9 0.01/9) | (1/7 0.33/49 0.01/49)
A, (7 0.33 0.01) (1 1 0) (1/3 0.33/9 0.01/9) (1 1 0
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()
P A, A, A, A,
A, (3 0.33 0.01) (3 0.33 0.01) (11 0 (3 0.33 0.01)
A, (7 0.33 0.01) (1 1 0 (1/3 0.33/9 0.01/9) (1 1 0
6 A-B
A, B, B, B,
B, (1 1 0) (3 0.33 0.01) (1 1 0
B, (173 0.33/9 0.01/9) (1 1 0 (1/3 0.33/9 0.01/9)
B, (1 1 0 (3 0.33 0.01) (1 1 0
7 B,C. B,C
B, (on G,
| (1 1 0 (1 1 0
c, (1 1 0 (1 1 0)
8 B,C
B, Cs Cq c,
C; (1 1 0 (173 0.33/9 0.01/9) (1/3 0.33/9 0.01/9)
C, (3 0.33 0.01) (1 1 0 (1/3 0.33/9 0.01/9)
c, (3 0.33 0.01) (3 0.33 0.01) (1 1 0
PA. A,-B. B,C. E° . Ex, i

B,-C. B,C .
Ce (1);
R, (2) s C./R.<0.1
Apay — TV
Ce = 1 (1)
n —
)\max , I
R, = 1 (2)
n—
Xmux o
(1) (2) ¢ R
0.1 o
(2) . s
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w! ( Ex!  En! He)
Ex) = Ex, + z Ex;
i=1
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R
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En! = En, + iEni
i=1
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En, l
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En’ :

i

o
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9 w
A B c w
C, (0.500 0.500 0.500) (0.010 0.012 0.012)
B, (0.429 0.435 0.421)
C, (0.500 0.500 0.500) (0.010 0.012 0.012)
C, (0.500 0.500 0.500) (0.003 0.004 0.004)
4, B, (0.142 0.130 0.158)
C, (0.500 0.500 0.500) (0.003 0.004 0.004)
(0.057 0.055 0.055)
€, (0.135 0.115 0.124) (0.001 0.003 0.003)
B, (0.429 0.435 0.421) Ce (0.281 0.387 0.338) (0.006 0.008 0.007)
C, (0.584 0.498 0.538) (0.008 0.013 0.013)
Cy (0.250 0.500 0.769) (0.022 0.012 0.016)
B, (0.142 0.130 0.158)
C, (0.750 0.500 0.231) (0.045 0.023 0.022)
A €, (0.500 0.500 0.500) (0.045 0.053 0.049)
: B, (0.429 0.435 0.421)
(0.245 0.256 0.232) €, (0.500 0.500 0.500) (0.045 0.053 0.049)
€, (0.500 0.500 0.500) (0.045 0.053 0.049)
B, (0.429 0.435 0.421)
€, (0.500 0.500 0.500) (0.010 0.053 0.049)
€, (0.500 0.500 0.500) (0.086 0.010 0.010)
B, (0.047 0.045 0.047)
Cs (0.500 0.500 0.500) (0.086 0.010 0.010)
By (0.169 0.179 0. 166) C, (1.000 1.000 0.000) (0.065 0.076 0.061)
A
: €, (0.250 0.500 0.769) (0.059 0.096 0.131)
(0.452 0.434 0.481) B, (0.615 0.597 0.621)
€, (0.750 0.500 0.231) (0.177 0.180 0.173)
C, (0.250 0.500 0.769) (0.016 0.027 0.036)
B, (0.169 0.179 0.166)
€, (0.750 0.500 0.231) (0.048 0.051 0.047)
€, (0.500 0.500 0.500) (0.014 0.017 0.017)
B, ( (0.142 0.130 0.158))
€, (0.500 0.500 0.500) (0.014 0.017 0.017)
C,, (0.200 0.214 0.186) (0.018 0.022 0.019)
A
¢ B, (0.429 0.435 0.421) €, (0.200 0.214 0.186) (0.018 0.022 0.019)
(0.245 0.256 0.232)
C,. (0.600 0.573 0.627) (0.054 0.062 0.060)
Cy (0.250 0.500 0.769) (0.022 0.037 0.049)
By (0.429 0.435 0.421)
€y (0.750 0.500 0.231) (0.067 0.072 0.061)
(3) o (4) o
10 10 we
(6) (7)
He 0.01,
Wsz’(wiXCi) (8)
Ex = w Ex, + w,Ex, + ** + w,Ex, (6) =
w,Ex,En, + w,Ex,En, + *** + w,Ex En, w; t G
n = .
w Ex, + w,Ex, + * +w, Ex, i o
(7) Ex  En
w, w, = w, m(m=2) o C, C, (9)
n (n<5) wy; +w, + 0+ (10) He 0.01,

w, :1 (nss) o
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( 44.859

c, x C, =¢C [Ex“ x Ex, |Ex,xEx,| x

14.178 0.010) . Matlab R2017b
En,\> (En,\’ 1
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C,+C,=C (Ex, +Ex, JEi> +En. 0.01)
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2. 3. (6) ’ ’
(7) 0. Ex (d d )
d =13.959 d =5.141
10
6 4
5 . )
o (4) o
C, (30.900 0.367 0.016) Cyis | (30.900 0.367 0.016) °
C, (50.000 0.255 0.010) Cy | (57.640 0.294 0.010)
C, (30.900 0.367 0.016) Cy; | (30.900 0.367 0.016)
C, (69.100 0.367 0.016) Cis | (50.000 0.227 0.010) o
Cs | (19.096 0.594 0.026) || €, | (30.900 0.367 0.016)
Co | (50.000 0.227 0.010) || Cx | (30.900 0.367 0.016) 1 .
C, (30.900 0.367 0.016) C,, | (50.000 0.227 0.010)
Cy (38.540 0.294 0.010) Cy, | (69.100 0.367 0.016) ’
C, (19.096 0.594 0.026) Cy | (69.100 0.367 0.016) °
Co | (19.096 0.594 0.026) || C,i | (69.100 0.367 0.016)
C, (30.900 0.367 0.016) Cys | (71.401 0.418 0.010) °
Ch | (69.100 0.367 0.016) | Gy | (69.100 0.367 0.016) 2)
Cy (50.000 0.227 0.01) Cy | (65.280 0.346 0.010) Clg i
Cy, | (30.900 0.367 0.016)
(2) o
(8) (9) (10) °
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